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Q1.
Choose the correct option for following questiopq. Ail the Questions are
compulsory and carry equal marks , 

',i ." - . i.i* . "

I
rc a : ll ll tn"" the eigenvatues of A2 + ZA + I are

OptionA: 16, 36
Option B:
Option C: t2.20
Opticn D: 12.36

2. lhe matri.-. lbr ZAs - 3A4 + Az - 4l wherel = [
3

-x' tl
Option A: 1304 - 430I
OptionB: 1354- 403I.
Option C: 13Bl - 403I
Option D: 138,4 + 403I

J. Th. ,*-*,u,,r.lir..ti*rt O.rirlrtirc ni', !,,zzk G, -1, +,-.
Option A: 408.45
Option B: 418.45
Option C: 418.045
Option D: 408

4. A rancioni urira

D!____l-2 l -r lo I

lP(x:x) lo.l lk lo.2 I2k lo.3 lk I

The value of k is
Option A: K=CI1
Option B: K-0.2
Option C: K:0.4
Option D: K=0.15

). The divergence of F = 3x2i * Sxyj + xyz3k ai the wt-nt (LL}LS
Option A: 6s
Option B: 60
Cption C 27i-lgi+70k
Optioir D 27i+1Bi+10k

6. A continuous random varjable X has the fbllowing probability distribution

f(il =**r,o < x < z the p(0.2< x < 0.5)is
Oprion A: 0.123
Option B: 0.321
Optiur C 0 231
Option i) 0.0123

1. A variable X folloris Pi.,isson distribution with variance 3, tl-re P(X > 4)is
Option A: 0.641
Option B: 0.353
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Option C:

OptionD:

of frecciorl of the contin table of the order 3x4 is

Reduc.g the quadratic form 3xl + Sxl + 3x! - Zxrx, - Z*2,*; Z4r, to tl,"
canonical forrn by or thogonal lransformation.

Find the Cirectional derivatives c
thevectori+2i +2k.
A sample of size i3 gave ar.r estinratetl population variance 3.0, while arotlr.. vur,1lt. of
size l5 gave an estimate of 2.5. Cuuld both rhe samples be from population rviih the

On an avemge 2002i, of the population in an area sufferaiom @
thal oui of 5 persons chosen at raridom &onr tllis area at least two suffff fiom i.B.
Usl Big M,Method/penalty method, solve the following Lpp
, . .:. .. :,., .: Min.Z = 2x1 * x2

.Suhject to the constraints
.t... ":.' 3x1 *x2=3'' .. 4x1* 3x2 > 6l' : ...'..'.r: xr*2x253
.,:. .. x1,x2 1S

same vaiiance?

Solre a"y f.o* o,rt?SirS *rt s eact

0.224
0.546

lf the mean and variance of the
the value of n and p are

6
2

29
3 ,,2

6. 4, , 1.[

4 3 '4

t2

889E42 t,4(rtrA7(-78 i UE5DB l -5625D1DC20

3iF'age

Option C:

:..

Option D:

8.

Option A: n:5, p:0.6
Ootion B: n:5, p:0.4
Option C: n:6. p:0.6 g:. . ....-{: - . ;-.I',i.l.i : a'-:1:.1F;]::;fT
Option D: n:6- p:0.4

9.

Option A:

Option B: .-\
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10.

Ontion A:
Option B:
Ootion C: 8

Ootion D: 4 i !.:
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rc e =lo/2 3tr/21 
,find cosl.L 'IT 7T .I

Write the dual of the primal is

Ms.x.Z = 4xr *5r, + 12xpi:
Subject to , .':

2x1 * x2 * x3 S 4.;. .1".ir:,.-.

3 x 1 - 2x 2 + 
"r_.1a,';,"g.-,:x1,x2,xg >-8u^ r;.+i

Determine the cons
(4x * cy + 2z)k is irotational.
A manufacturer knows fiom his experience tlrat th
normal with mean 100ollns and standa.d deviation 2 ohms. what percentage'J;;;i;;";;
will have resistance between 98 and 102 ohms? . , '' I r ' : p- Y-':'

Shorv that the matrix A

Illiterstes
A continuous random variable t ur i

f(x)=ti;r(1 -r);0<X<1
iiind i) k, ii) mean iii) variance

D

E Samples of two types of electric
data were obtained

Test at 5%

signilicani.

bulbs were tested for length of life and the followurg

level of significance rihelher trc dift*en.e i, the sample mcans

E

Evaluate by Stoke's theorem f ,txldx + xy dy) where C is the square in the xy-
lane with vertices (1,0), (0,1), (-1,0)and. 0, *1).

Solve any Four out of Six5 marks each

Use Greenls rhgglem ro evatuare {(r, - flax + efTiay
tb€ region defined by y = x?: and y = 4.

around the boundary of

Use the dual simplex method to solve ttre fotto,ring t-ff
l.l

.L

' :' .r.- ..:' Min.Z * 2x, + 2x2 * 4x3
Subl ect t'O lhe constraints

3x" I x, l'/x, 13
x1*4x7*6xq<5

. ,,r . X1.X2,X: > 0

Based on the follow data determine if there is a .elation between litera and smoking

Type I Type II
No. of samples 8 7
Mean of the samples
(irr Hrs.)

1'l 34 1024

Standard Deviation 35 40
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